& WARNING: To avoid serious personal injury:

Carefully and strictly follow assembly instructions. Improper assembly of

furniture can result in structural failure, instability of the product, or tip-over.

Monitor and carefully control the assembly components. These include small
parts and hardware that may present a choking hazard to small children.
Bob's furniture should be assembled only by responsible adults and children

should not be involved in the assembly process.

Where provided, wall mounting hardware should always be used as
prescribed in these instructions to anchor furniture to wall. Proper use of the
wall mounting hardware can significantly reduce the potential for furniture

tip-over and crushing injuries.



Helpers needed to assemble: 2

Estimate time frame to assemble: 25 minutes

A
° 1\ ° ° L4
Y 3 . # Picture |Description Quantity
° é & ° o o (-] ©
1| T [packa
2 sEJ
2 ge—= |Support Bar2
o \&f [P o 1 ° G‘t A3k e
® Sk . o
N )
4 Y g 3 Q Seat 1
D
Use 4pcs D (Bolts+Washers) to tighten Support Bar (2) and Back (1). 4 Legd
Use 4pcs A (Bolts+Wahsers) to tighten Support Bar (2) and Seat (3).
Inserts 4pcs Plugs (G) into Back support (2) as shown.
Loosely tighten the 4pcs Leg (4) to the Footrest (5) with Bolts (B M6x25) . > Footrest 1
Use 4pcs bolt (C M6x20) to tighten the Plate (7) to Leg (4) with Allen Key. ©
Turn the barstool legs upside and use 4pcs bolt (C M6x20) to tighten the 5 -
Swivel Plate (6) with Allen Key. Make sure the plate aligns with the bolt holes on Swivel Platel
barstool legs base. Then ensure all bolts are fully tightened on previous steps. @
Once the swivel is secure, we will add the seat under the barstool to 7 PEfe T
connect the seat to the legs. Place 2pcs Washers (F) in the front of the seat. ate
Use 2pcs bolts (C M6x20) and 2pcs bolt (E M6x16) to tighten the swivel plate and
seat. Make sure the plate aligns with the washers and bolt holes on the seat. A Bolts(M 6’;;?2) T2
o~ (mm () [WepEgrs(MoxLax1)
o)
Cr—= Bolts(M6X25)[ Z+1EX
£~ 6 (]
TF-c € BotrstMEX 2O O+ TEXT!
D l Bolts(M6x20)

Flip the barstool over upright as seen. Insert 4pcs Plugs (G) in the leg as shown.

Adjust the foot nails if legs are uneven.
Test the barstool is firmly on the ground and the seat does not wiggle.
Sit and enjoy your new barstool.

Washers(M6x|[L4x1)
A4+1EXT




	GIDEONSTOOL_ALLCOLORS
	WARNING PDF
	Blank Page




